
MATE 3032assignment3: sections7.2,7.3

Keepin mind thatwhenperformingtrigonometricsubstitution,it is not enoughto indicatehowthe
old variabledependson thenew,butalsohowthenewvariableis constrained(e.g.,x = sinθ, −π/2
≤ θ ≤ π/2). I recommendspecifyingtheintervalby usingafigureshowingasubsetof theunit circle,
asI did in class.

19. Evaluatetheintegral:

(a) ∫
π/2

0
2sin x 2cosx dx

(b) ∫
π/3

0
secx 2tan x dx

(c) ∫sin(4x) cos(3x) dx

(d) ∫
3π/4

π/4
cscx 5cot x dx .

20. Evaluatetheintegral:

(a) ∫
π/4

0
θ 2tan θ dθ

(b) ∫
π

0
4sin (2θ) dθ

(c) ∫
π/4

−π/4
2tan θ dθ .

21. Exercise69p.485.

22. Evaluatetheintegral:

(a) ∫√1 + 2t

t
dt . (Trigonometricsubstitutionis notnecessary).

(b) ∫
a

0

dt
2(a + 2t 3/2)

.

23. Evaluatetheintegral:

(a) ∫
1

0√ 2x + 1 dx

(b) ∫
2

1√ 2x − x dx . Hint: completethesquare,andusetheformulafor ∫ 3secx dx .

24-25. Exercises35,43p.492.
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